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Abstract: Essentially, whenever a generalized hypergeometric series can be summed in terms
of gamma functions, the result will be important as only a few such summation theorems are
available in the literature. In this paper, we apply two identities of generalized hypergeometric series
in order to extend some classical summation theorems of hypergeometric functions such as Gauss,
Kummer, Dixon, Watson, Whipple, Pfaff-Saalschiitz and Dougall formulas and also obtain some new
summation theorems in the sequel.
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1. Introduction

Let R and C denote the sets of real and complex numbers and z be a complex variable. For real or
complex parameters a and b, the generalized binomial coefficient:

a -\ _ F(a+1) B 4
( b ) ST+ DI(@a—b+1) ( aeb ) (a,b€C),

I'(z) :/ ¥ le ¥ dx,
0

denotes the well-known gamma function for Re(z) > 0, can be reduced to the particular case:

( a ) _ ()"0,

where (a);, denotes the Pochhammer symbol [1] given by:

in which:

(@) = T(a+b) _ { 1 (b=0,a e C\{0}), @

I'(a) a(a+1)..(a+n-1) (beN,aecC).

Based on Pochhammer’s symbol (1), the generalized hypergeometric functions [2]:
a, ... , ﬂp

F
Pa < by, .. by
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are indeed a Taylor series expansion for a function, say f, as Y, cj 2 with ¢} = f ()(0) /k!, for which
the ratio of successive terms can be written as:

G (ktay)(k+ap)..(k+ap)
G G bk bk B (k1)

According to the ratio test [3,4], the series (2) is convergent for any p < g+ 1. In fact, it converges
in |z| < 1for p = q+ 1, converges everywhere for p < g+ 1 and converges nowhere (z # 0) for
p > g+ 1. Moreover, for p = g+ 1, it absolutely converges for |z| = 1 if the condition:

q q+1
= Re (Zb] ZLI]> >0,
=1 j=1
holds and is conditionally convergent for |z| = 1and z # 1 if —1 < A* < 0 and is finally divergent for
|zl =1and z # 1if A* < —1.

There are two important cases of the series (2) arising in many physics problems [5,6]. The first
case (convergent in |z| < 1) is the Gauss hypergeometric function:

oo (0 ]2) - £ @,

with the integral representation:

Z) _ / P11 — (1 = 1),

(Rec > Reb > 0; |arg(l—2z)| < m). (3)

Replacing z = 1 in (3) directly leads to the well-known Gauss identity [1]:

_T()(c—a—-D)
1>_1"(c—a)1"(c—b) Re(c—a—1b) > 0. 4)

The second case, which converges everywhere, is the Kummer confluent hypergeometric function:

b Z"" (b) k
= F _—
y=1n ( c ) ) kU
with the integral representation:

k=0

(Rec > Reb > 0; |arg(1l—2z)| < 7).

Essentially, whenever a generalized hypergeometric series can be summed in terms of gamma
functions, the result will be important as only a few such summation theorems are available in the
literature; see, e.g., [7-13]. In this sense, the classical summation theorems such as Kummer and
Gauss for »F;, Dixon, Watson, Whipple and Pfaff-Saalschiitz for 3F,, Whipple for 4F3, Dougall for
5F; and Dougall for 7F¢ are well known [1,14]. In this paper, we apply two identities of generalized
hypergeometric functions in order to obtain some new summation theorems and extend the
above-mentioned classical theorems. For this purpose, we should first recall the classical theorems
as follows.
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*  Kummer’s theorem ([1], p. 108):

a, b  T(A+a—-0b)I(1+ (a/2))
2F1< 1+a—b ‘_1>_F(1—b+(a/2))1“(1+a)' ©)
* Second Gauss theorem ([1], p. 108):
E a, b 1\ VrT((a+b+1)/2) ©)
2T @+bv+1)/2 [ 2] T(@a+10)/2T((b+1)/2)°
* Bailey’s theorem ([1], p. 108):
(@ l—a | 1) _ Ib/2)T((b+1)/2) @)
2 b 2)  T((a+b)/2)T((b—a+1)/2)"

* Dixon’s theorem ([1], p. 108):

FrA+a)f(1—b+a/2)T(1—c+a/2)T(1+a—b—c) "

F a, b, c 1 Tl +a/2)f(1+a—-b)T(14+a—c)T(1—b—c+a/2) ®)
2\ 14a-b 14a—c B

*  Watson’s theorem ([1], p. 108):

) _ VAT +¢/2)T((a+b+1)/2)T(c— (a+b—1)/2) ©)

a, b, c
3h2 ( (a+b+1)/2, 2 I((a+1)/2)L((b+1)/2)T(c—(a—1)/2)T(c—(b—1)/2) "

*  Whipple’s theorem ([1], p. 108):

3F2< a, 1—a, ¢ 1)

¢, 2b—c+1

21 72T ()T (26 — ¢+ 1)

T @10/t b+ (a—ct)/2T((1—ato)/2Th+1-(@+ay2 0
*  Pfaff-Saalschiitz theorem ([1], p. 108):
ot 1) =G a
+ Second Whipple theorem ([1], p. 108):
a, 14+a/2, b, c Ia—b+1l(a—c+1)
4F3< a/2, a—b+1,a—c+1 | ) TT(a+0)I(a—b—c+1)’ (12)

* Dougall’s theorem ([1], p. 108):

F a, 1+a/2, ¢, d, e
S a/2, a—c+1, a—d+1, a—e+1

)
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Ta—c+)l(a—d+1)T(a—e+1)T(a—c—d—e+1) (13)
S T@+1Dl(a—d—e+ 1)l (a—c—e+1)l(a—c—d+1)"

* Second Dougall theorem ([1], p. 108):

E a, 1+a/2,b,¢,d 1+2a—b—c+n, —n
7 a/2, a—b+1,a—c+1, a—d+1, b+c+d—a—n,a+1+n

)

_(a+1),(a-b—-c+1),(a-b—-d+1),(a—c—d+1), 14
= @ti-b),ati—o),ari—d) a+ti—b—c—d), Y

In order to derive the first identity and only for simplicity, we will use the following symbol for
representing finite sums of hypergeometric series:

(m) ap, .. ,ap
PF?( b, .. b,

For instance, we have:

2. First Hypergeometric Identity

Let m, n be two natural numbers so that n < m. By referring to Relation (1), since:

(n)y  T(k+n)T(m) T(m) 1 (15)
(m), T(k+m)(n) T(n) (k+n)k+n+1).(k+m—1)

substituting (15) in a special case of (2) yields:

ay, ...,4p,—1, n
qu 1 p—1
b], bqfl, m

) m)i k ap-1), (k+1)(k+2)..(k+n—1)z
)

L(n) (= (b1 (q o (ktm—1)!
i (@1)j_my1--(ap— 1)] mit (j+2—m)(j+3—m)..(j—m+n)z " (16)
]:m 1 bl)] m+1- (b‘i 1)] m+1 J

Relation (16) shows that we encounter a complicated computational problem that cannot be
easily evaluated. However, some particular cases such as # = 1 and n = 2 can be directly computed.
We leave other cases as open problems.

The case n = 1 leads to a known result in the literature [14], because:
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5 of 20
e (al)-_ ...(ll _1). j—m+1
qu ay, .. rap—lr 1 z | = (m> Z j—m+1 P j—m+1 Z '
bl/ /bq—l/ m j=m—1 (bl)j m+l"'(bQ*1)]‘_m+1 ]
o (a1)i_ i q-(ay-1), jem+1l  m=2 (ay);_,  q-(Ay_ 1), j—m+1
—T(m) (L P e Z g e P e 2 ) )
20 0 i1 (bg1); g =0 00 (0g-1) 4
and since: I 3
a—m-+
(a)j*ﬂ’H»l = F(a) (ﬂ —m+ 1)]’

Relation (17) is simplified as:

ai, ... ,0y_1, 1
F P
p=a ( bl, ,bqfl, m Z)
F(bl)F(bq,l) F(lll —m+ 1) F(ap,l —m+ 1) (m — 1)'
I“(al)...l“(ap,l) F(bl —m+ 1)F(bq71 —m+ 1) zm=1

o (pqul ( m—m+1, ., a1 —m+1 z)

bl—m—i-l, iy bq,l—m—b—l
_ (ml—:Z) am—m+1, .., ap—1 —m+1
PRI by —m A1, e, by —m ]

)) as)

However, the interesting point is that using Relation (18), we can obtain various special cases that
extend all classical summation theorems as follows.

Special Case 1. When p = 3,4 = 2 and x = 1, Relation (18) is simplified as:

a, b, 1
3b (
c, m

1) = I(m)I(c)f(a—m+1)T(b—-—m+1)
N T(@)L(b)T(c—m+1)

(F(c—m+1)F(c—a—b—l—m—1) (’”2)< a—m+1, b—m+1

F
I'(c—a)T(c—D) 2t c—m+1

)

For m = 1, Relation (19) exactly gives Formula (4), while for m = 2,3, we have:

a, b, 1 B c—1 IFc—DIl(c—a—b+1)
3F2< ¢, 2 1>_(a—1)(b—1)< T{c—a)T(c—b) ‘1>'

and:

a b, 1
F 7 Y7
e,

1) = 2(c—2),
(a—2)y(b—2),
I(c—2)T(c—a—b+2) ab+c—2a—2b+2
X( I['(c—a)l(c—b) B c—2 )

These two formulas are given in [14].

Special Case 2. When p = 3,4 = 2 and x = —1, by noting the Kummer theorem (5), Relation (18) is
simplified as:
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_ 1) _ (—1)m! I(m)I'(a—b+m)I'(a—m~+1)I(b—m+1)

E a, b, 1
2\ a—b+mm I(@)I'(b)f(a—b+1)

§ < T(a—b+DT(1+(a—m+1)/2) _<§;f><ﬂ—m+1f bomd |—1>>. (20)

r24+a—mI(m—b+(a—m+1)/2) a—b+1

For m = 1, Relation (20) exactly gives the Kummer formula, while for m = 2,3, we have:

E a, b, 1 1) = a—b+1 (1F(ab+1)F(1+(a1)/2))
32\ a—b+2 2 ( '

C(a-1)(b-1) T(a)T(=b+2+(a—1)/2)
and:
E a, b, 1 _ 2(a—b+1), TFa—b+1)T(a/2) 3a+b—ab—-3
2\ a—b+3,3| ) (@a-2),0b-2), (F(a—l)F(—b+2+a/2)_ a—b+1 )

Special Case 3. When p = 3,5 = 2 and x = 1/2, by noting the second kind of Gauss Formula (6),
Relation (18) is simplified as:

1

- — 2 m—1

2) )

I(m)T((a+b+1)/2)T(a—m+1)I'(b—m+1)
Fa)rr(-m+1+@a+b+1)/2)

E a, b, 1
2\ (a+b+1)/2, m

X

y Val(-m+1+ (a+b+1)/2) _<mEZ> a—-m+1, b—m+1
TA+(a—m/2)T(A+b-—m)/2) '\ —m+14+@+b+1)/2

1
) e

For m = 1, Relation (21) exactly gives the second kind of Gauss formula, while for m = 2,3,
we have:

2] (a-1)(b-1) T(a/2)T(b/2)

E a, b, 1 1y  a+b-1 (ﬁl‘(—1+(a+b+1)/2)_1)
2\ (a4+b+1)/2, 2 '

and:

1) _2(a+b-1)(a+b-3)
2

E a, b, 1
2\ (a+b+1)/2,3 (a—2),(b—2),

><< VaT((a+b—-3)/2) _ab—a—b+1)
T((a—1/2)T((b-1)/2) a+b-3 )"

Special Case 4. When p = 3,4 = 2 and x = 1/2, by noting the Bailey theorem (7), Relation (18) is
simplified as:
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> _ (2)m71 I(m)T(b)T(a—m+1)T'(m—a)
2 T(@)I2m—a—1)T(b—m+1)

T((b—m+1)/2)T((b—m+2)/2) WE@ a—m+1, m—a
T(—m+1+@+b)/2)T(b—a+1)/2) ! b—m+1

1
). e

For m = 1, Relation (22) exactly gives the Bailey formula, while for m = 2,3, we have:

e @ 3-a 1 [1)_21-b) ( I((b—1)/2)T(b/2) 1)
32 b, 2 2) " (1—a), \I(-1+(a+b)/2)T((b—a+1)/2) '
and:
el @ 5—a,1 | 1) 8(b-2),
32 b, 3 2] (a—4),
y I((b—1)/2)T((b—2)/2) _ 5a—a®+2b-10
(r(—z+(a+b)/2)r((b—a+1)/z) 2(b—2) )

Special Case 5. When p = 4,9 = 3 and x = 1, by noting the Dixon theorem (8), Relation (18) is

)

_I'm)T(a—b+m)I'(a—c+m)T(a+1-—mI(b+1—-m)(c+1—m)
N T(a)L(b)T(c)T(a—b+1)T(a—c+1)

simplified as:

E a b, ¢, 1
473 a—b+m,a—c+m, m

I'((a4+3—m)/2)T (a—b+1)T (a—c+1)T (=b—c+(a+3m—1)/2)
T(a+2—m)T (—b+(a+m+1)/2)I (—c+(a+m+1)/2)T (a—b—c+m)

X (23)

)

For m = 1, Relation (23) exactly gives the Dixon formula, while for m = 2,3, we have:

_(mEZ) a—m+1,b—m+1, c—m+1
32 a—b+1,a—c+1

_(a-b+1)(a—c+1)
 (a—-1)(b—-1)(c—1)

E a b, ¢, 1
473 a—b+2, a—c+2, 2

(F((a +1)/2)I(a—b+1l(a—c+1I(-b—c+(a+5)/2) 1)
[(a)T(=b+ (a+3)/2)I(=c+ (a+3)/2)[(a—b—c+2) ’

and:
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E a, b, ¢, 1 _2a—-b+1)(a—c+1),

Y3\ a—b+3,a—c+3,3 " (@—-2),(b—2),(c-2),
< T@/2)T(a—b+1)l(@a—c+DI((a/2) =b—c+4)  (a=2)(b-2)(c—2) _1)
Fa—1I((a/2)—b+2)I((a/2) —c+2)T(a—b—c+3) (a—b+1)(a—c+1)

Special Case 6. When p = 4,4 = 3 and x = 1, by noting the Watson theorem (9), Relation (18) is
simplified as:
1)

Im)T((a+b+1)/2)T(2c+1—m)T(a+1—m)I(b+1—m)[(c+1—m)
T(a)T(L)T(c)T(—=m+ (a+b+3)/2)T(2c —2m+2)

F a b, ¢, 1
I (a+b+1)/2, 2041 —m, m

VT (c—=m+(3/2))T (—=m+(a+b+3)/2)I(c—(a+b—1)/2)
T(1+(a—m)/2)L (1+(b—m)/2)T (c+1—(a+m)/2)[ (c+1—(b+m)/2)

(24)

)

For m = 1, Relation (24) exactly gives the Watson formula, while for m = 2,3, we have:

1) = a+b—1
C(@-1-1)

y (\/El"(c— (1/2)T((a+b—1)/2)T(c— (a+b—1)/2) _1)
T(a/2)T(6/2)T(c — (a/2))(c — (b/2)) /

X
_(’”1;2) a—m+1, b—m+1, c—m+1
2\ —m41+4(a+b+1)/2, 2c—2m+2

E a b, ¢, 1
3 (a+b+1)/2, 201, 2

and:

1) _ (2c=3)(a+b—1)(a+b-3)

E a b, ¢, 1
3\ (a+b+1)/2,20-2,3 (a—2),(b—2),(c—1)

(a—1)/21((6-1)/2)T(c— (@ +1)/2)T(c— (b +1)/2) a+b—3

. < (ﬁr(c—(3/2))r((u+b—3)/z)r(c—(a+b—1)/2) (a—2)(b—2) _1)'
T

Special Case 7. When p = 4,4 = 3 and x = 1, by noting the Whipple theorem (10), Relation (18) is
simplified as:
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)

_ T(mI(e)f2b—c+1)I(a+1—m)'(m—a)l(b+1—m)
- T@T2m—1—a)T(b)T(c+1—m)T(2b—c—m+2)

E a2m—1—a, b, 1
473 c,2b—c+1, m

22217 (c—m+ )T (2b—c+2—m)
T(—m—+1+(a+c)/2)[ (—m+1+b+(a—c+1)/2)[ ((1—a+c)/2)T (b+1—(a+c)/2)

(25)
(mZ)( a—m+1, m—a, b—m—+1 ’ 1)

— JF
372 c—m+1,2b—c—m+2

For m = 1, Relation (25) exactly gives the Whipple formula, while for m = 2,3, we have:
a,3—a, b 1 (c—1)(c—2b)
F 1 =
43<c,2b—c+1,z ) (@—2),(6—1)

2372 (c — 1)T(2b —¢) _1
I(-1+(a+c)/2)T(b+(a—c—1)/2)T(1—a+c)/2)T(b+1—(a+c)/2) ’

F a,5—a, b, 1
B3 ¢ —ct1, 3

1) = 2(c—2),(2b—c—1),
(a—4)4(0b—2),
w252 (c —2)T(2b —c — 1)
I(—2+(@+c)/2)[(b+(a—c—3)/2)T(1—a+c)/2)[(b+1—(a+c)/2)

(a—2)(3—a)(b—2)
(c—2)2b—c—1) _1) '

Special Case 8. When p = 4,7 = 3 and x = 1, by noting the Pfaff-Saalschiitz theorem (11), Relation (18)
is simplified as:

a b, —n+m-1, 1
473 ¢, 1+a+b—c—n, m

1) = (m—-1)!(1—-c¢),,_1(c—a—b+n),_ 4
A= @)y (= by (12— 1),

y (c—a),(c=b), _(mlgz) a—m+1,b—m+1, —n
(c+1-—m),(c—a—b+m—1), 32 c—m+1,24a+b—c—m—n

1>) - 09)

For m = 1, Relation (26) exactly gives the Pfaff-Saalschiitz formula, while for m = 2,3, we have:

E a b, —n+1, 1
473 ¢, 1+a+b—-c—mn, 2

1) _ (1-c¢)(c—a—b+n)
n(l—a)(1-0b)

and:
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E a b, —n+2, 1
473 ¢c, 1+a+b—c—mn, 3

1) = 2(1—c)y(c—a—b+n),
n(l—a)y(1—0b)y(n—1),

§ ((C_<c—a>n<c—b>n n(a—2)(b—2) )_1),

2),(c—a—-b+2), (c—2)(a+b—c—n—-1

Special Case 9. When p = 5,9 = 4 and x = —1, by noting the second theorem of Whipple (12),
Relation (18) is simplified as:
- 1) = (=1)""1x

Irm)T((a+m—-1)/2)T(a—b+m)T(a—c+m)T(a—m+1)I((a—m+3)/2)T(b—m+1)T(c—m+1)
@) ((a+m+1)/2)LB)T ()T ((a—m+1)/2)T(a—b+1)[(a—c+1)

a, (a+m+1)/2, b, ¢, 1
5Fy
(a+m—=1)/2,a—b+m, a—c+m, m

§ F(1+a—-b)T(1+a—c) _<’”I;2) a—m+1, (a—m+3)/2, b—m+1, c—m+1 1 (27)
TQ—m+al(mta—b—c) *3 (a—m+1)/2, a—b+1, a—c+1 ‘

For m = 1, Relation (27) exactly gives the Whipple formula, while for m = 2,3, we have:

)

_ 4a-b+1)(a—c+1) (1_F(1+a—b)r(1+a—c))
S (@-1)@-1)b-1)(c-1) F(@)2+a-b—c) )’

E a, (a+3)/2, b, ¢, 1
4 (a+1)/2,a-b42, a—c+2,2

and:

E a, (a+4)/2, b, ¢, 1
4\ (@+2)/2,a—-b+3,a—c+3,3

Y 2@—b+1)(a—c+1),
~ (a+2)(a—1)(b—2)y(c —2),

(I’(l—i—a—b)l’(l—ka—c) a(b—2)(c—2) _1)
Ia—1)I3+a—-b—c) (a—b+1)(a—c+1)

Special Case 10. When p = 6,9 = 5 and x = 1, by noting the Dougall theorem (13), Relation (18) is
simplified as:
)

=T(m)T((a+m—1)/2)T(a—c+m)

F a, (a+m+1)/2,¢,d, e, 1
6% (a+m—-1)/2,a—c+m, a—d+m, a—e+m, m

IFa—d+mTa—e+mTa—m+1DI((a—m+3)/2)[(c—m+1)T(d—m+1)T(e—m+1)
IF@I((a+m+1)/2)T(c)I(d)T(e)I((a—m+1)/2)T(a—c+1)[(a—d+1)T(a—e+1)

F(a—c+D)I(a—d+1)I(a—e+1)[ (a—c—d—e+2m—1)
T'(a+2—m)I(a—d—e+m)I (a—c—e+m)T (a—c—d+m)

28
(m—2)< a-m+1, (a—m+3)/2, c—m+1,d—m+1, e—m+1 (28)

— sk
(a—m+1)/2, a—c+1,a—d+1, a—e+1

)
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For m = 1, Relation (28) exactly gives the Dougall formula, while for m = 2,3, we have:

)

(a—c+1)(a—d+1)(a—e+1)
(c—1)(d—-1)(e—1)(a+1)

E a, (a+3)/2,¢,d, e 1
5\ (a+1)/2a—c+2, a—d+2, a—e+2, 2

Fa—c+1)l(a—d+1)T(a—e+1)l(a—c—d—e+3) 1
X< [(@)l(a—d—e+2)T(a—c—e+2)[(a—c—d+2) )'

)

C2(a—cH+1),(a—d+1)(a—e+1),
C(a=1)(a+2)(c—2),(d —2)y(e —2),

and:

E a, (a+4)/2,¢,d, e 1
05\ (a+2)/2,a—c+3,a—d+3, a—e+3, 3

Ta—c+1)l(a—d+1)T(a—e+1)l(a—c—d—e+5)
(F(u—1)F(a—d—e+3)T(a—c—e+3)F(a—c—d+3)

a(c—2)(d—2)(e—2) _1)
(a—c+1)(a—d+1)(a—e+1) '

Special Case 11. When p = 8,4 = 7 and x = 1, by noting the second theorem of Dougall (14),
Relation (18) is simplified as:

a, (a+m+1)/2, b,c,d, 2a—b—c—d+2m—1+n,m—-n—1,1

sF7

(a+m—-1)/2,a—b+ma—c+m, a—d+m, b+c+d—a+1—-m—-na+n+1, m

= (=1)" Y (m —1)!

(B=a-—m)/2),_11—a+b—m),_Q1—a+c—m), (1—a+d—m), (m+n+a—-b—c—d),_;(—a—n),_,
((1 —a- m)/z)mfl(l - a)mfl (1 - b)mf] (1 - C)m—l(l - d)mf] (b+C+d —2a+2-2m— Yl)m,](i’l +2- m)m—]

(a—m+2),(a—b—c+m), (a—b—d+m), (a—c—d+m),
(a—b+1), (a—c+1),,(a—d+1),(a—b—c—d+2m—1),,

X
("'1;2) a—-m+1, (a—m+3)/2, b—m+1l,c—m+1,d—m+1,2a—b—c—d+m+n,—n

— 7k
(a—m+1)/2,a—b+1,a—c+1,a—d+1, b+c+d—a+2-2m—na—m+n+2

. (29)
)

For m = 1, Relation (29) exactly gives the Dougall formula, while for m = 2,3, we have:
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)

E a, (a+3)/2, b,c,d, 2a—b—c—d+3+n,—n+1, 1
87\ (a+1)/2,a-b+2,a—c+2 a—d+2, b+c+d—a—1—-na+n+1,2

(ma+b—-1)(—a+c—1)(—-a+d—-1)(n+2+a—-b—c—d)(a+n)
n(l+a)(1-b)(1-c)(1—-d)(b+c+d—2a—2—n)

1 (a),(a—b—c+2),(a—b—d+2),(a—c—d+2),
% < B (a—b+1)n(a—c+1)n(a—d+1)n(a—b—c—d+3)n)'

and:

E a, (a+4)/2, bc,d, 2a—b—c—d+5+n, —n+2,1
87\ (@+2)/2,a-b+3,a—c+3, a—d+3, b+c+d—a—2—nma+n+1,3

_(@a-2)(—a+b—-2)y(—a+c—2)(—a+d—-2),3+n+a—-b—c—d),(—a—n),
N (a+2)(1—a),(1-b),(1—c),(1—d)y(b+c+d—2a—4—n)y(n—1),

(a—1),(a—b—c+3),(a—b—d+3), (a—c—d+3),
(a—b+1),(a—c+1),(a—d+1),(a—b—c—d+5),

na(b—2)(c—2)(d—2)(2a—b—c—d+3+n) 1
a—b+1)(a—c+1)(a—d+1)(b+c+d—a—n—4)(n+a—1)

B

Remark 1. There are two further special cases, which however do not belong to classical summation theorems.
When p = q = 1, Relation (18) is simplified as:

1 om0, "2
1F1<m z)— per| (e ];J i)

and when p = g +1 = 2, it yields:

m—1)T(a—m+1 a1 =2 7
Z>_(Zml) ( F(a)+ )((1_2) Ly (a—m—f—l)j].!).

j=0

Similarly, for the case n = 2, Relation (16) changes to:

ay, .. 0y,_1, 2
qu 1 p—1
bl/ bqfl, m

2| = I'(m) i (al)f*mﬂ“'(ap—l)jfmﬂ (j+2—m)z
j=m—1 (bl)]'—m+1"'(bq—l)]',m+1 J!

—

:Zm

(mz (z i Eﬂl)]’m+2...(ap—1)]~m+zzr+(2_m) i (@1)j prs1--(3p=1);_ i zf)
- r=m—2 bl i . ; r! . . . i1

(m—1)! T(by)...T(by—1) T(ay —m+2)..T(ap_1 —m+2)
zm—2 l"(al)...l"(ap,l) F(b1 —m+ 2)...1—‘(1’),7,1 —m +2)
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)

aq—m+2, .., a4, 1—m+2
x| p-1Fg-1 ’
bl—m—l—Z, ey bq,l—m—&-z

(m—3) ap—m+2, .., ap 1 —m+2
zZ | — p,qu71
bl -m+2, .., bq,1 —m+2

(m - ])! F(bl)...l”(bq,l) F(a1 —m—+ 1)...F(ap,1 —m—+ 1)
zm=1 T(ay)..T(ap—1) T(by —m+1)..T(byq —m+1)

+ (2—m)

aq—m+1, ., a, 1—m+1

N (m=2) a—m+1, ., ayq—m+1
bl—ﬂ’l+1, ey bq,l—m—&—l

—,_1F,_
p-1ig-1 bl—m—i-l, ey bq,l—m—i—l

Therefore:

E at, - Ap—1, 2
ptq
bl/ bqfl/ m
(a1 =m+1)... (a1 —m+1)

(1= 1) e (0 —m+1) ~
ag—m+2, .., a1 —m+2

_ (m — ])! F(bl).ul"(bq,l) F(al —m—+ 1)...1—‘(61’,,1 —m+ 1)
21 T(ay)..T(ap_1) T(by —m+1)..T(bg_1 —m+1)

bl —m+2, ey bq,l —m+2 Z)) . (30)

(m=2) ap—m+1, .., a,_1—m+1
Z) _pflqul ( P z

X p—]H]—]
X bl—m+2, ey bq,l—m+2

aqg—m+1, .., a, 1 —m-+1
~(m=2) | paFpa [ pt
b]*ﬂ’lﬂ’l, ey bq,lferl

(m—3) am—-—m+2, .., 0,1 —m+2
Z) 7}7,1Fq,1 ( r

blfﬂ’l“rl/ ey bq,]*ﬂl‘%l

For instance, if m = 3, Relation (30) reads as:

F a, ... ,Llpfl, 2
PO\ by, o bgor, 3

({Ill — 2) (ap,1 — 2) a — 1, ..., ap—l -1
X ((bl IR Kl W R S

:

611*2, ...,a_l—z
—  F._ 14
p-1%4 1( by —2, ., byq —2

:) 1)

Hence, forp = g+1 =3 and z = 1, we have:

a, b, 2
F 7 7
32( 3

1) = 2
 (a —2),(b—2),
Ic)f(c—a—b+1)

X ((02)2+ T(c—a)T{c—b) (ababc+3)) .

3. Second Hypergeometric Identity

By noting Relation (1), first it is not difficult to verify that:

—

(a+m) = ‘ZZ"T (31)

Now, if the identity (31) is applied in a special case of (2), we obtain:
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r ap+m, .. ap_1+m, 1
i by+m, . by +m

_ i (a1 +m)p(ap-1 +m), zk
= (b1 +m)p..(bg +m),

_ (B1)y(Bg),, fi (al)k+nr“(apfl)k+nlzk
(@1) - (ap-1),, (2 (01) g (bg—1) sy

leading to the second identity:

b1+m, cen ,bq—'_m

F ay+m, ..ap_q+m, 1
P (al)nr"(ap—l)m

z) (1) yyeee(bg),, -

which is equivalent to:

a, ... dy—1, 1
E p
P q( bi, . b

z) _ (by —m),...(bg —m) -

B =V ay—m, ..a,_q—m, 1
by —m, . Jbg—m

%)(w

Once again, the interesting point is that by using Relation (32) or (33), various special cases can be
considered as follows.

Special Case 12. When p = 2,4 = 1 and x = —1, by noting the Kummer formula and Relation (32),

we get:
- 1)

2F1< b+m, 1
2=t (ﬁ _re-b) _“;F?( b1 ‘_1>). o

2—b+m
2 T(—-b+(3/2))
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For instance, if m = 1,2, Relation (34) is simplified as:

b+1, 1 @ T(3-b) 2
2F1< 3-b |_1>_21‘((3/2)—b)+b_1’

and:

4—b -

e[ b2t N VA T@-b) 2013
2 ) T 26(b+1)T((3/2) — b) b(b+1)

Special Case 13. When p = 2,4 = 1 and x = 1/2, by noting the second kind of Gauss formula and
Relation (32), we get:

1

2

a+m, 1
2F1< (
(1+(2/2))y (ﬁr(1+<a/z>> <m1>< a, 1
(

1
D). e

a/2)+m+1
(@), T((a+1)/2) '\ (a/2)+1

For instance, if m = 1,2, Relation (35) is simplified as:

a+1,1 |1\ a+2 (14 (a/2)
2Fl< (a/2) + 2 2) = s <\/EF(((1+1)/2) 1)'
and:
a+2,1 | 1) (a+2)(a+4) T(1+ (a/2)) 4
2Fl< (a/2) +3 2) =V Tean) 20t

Special Case 14. When p = 3,4 = 2 and x = 1, by noting the Dixon formula and Relation (32), we get:

E b+m, c+m, 1
372 2—b+m,2—c+m

vV TQ2—=b)T(2—c)T(=b—c+(3/2)) (m;) b, c, 1
“\ 2 T(—b+ 3/2))(—c+G/2)I2-b—-0c 2\ 2-b2-c¢

1>> e

For instance, if m = 1,2, Relation (36) is simplified as:

b+1, c+1, 1
F 1
32( 3-b 3—c )

_ vV TB-bIB—ol((8/2)—b—c) (b—2)(c—2)

"~ 2bc T((3/2) —b)T((3/2) —c)T(2—b —c) be ’

b+2, c+2, 1
F 1
”( 4—b, 4—c >

L I(4—bIr4—or((3/2)—b—c) 2(bc—b—c—2)(b—3)(c—3)

2(b)5(c), T((3/2) = b)T((3/2) —c)T(2—=b—¢) (b)5(c),
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Special Case 15. When p = 3,4 = 2 and x = 1, by noting the Watson formula and Relation (32),
we get:

E b+m, c+m, 1
2\ /2) +m41, 204 m

VAT + (¢/2)T(1+ (b/2))T(c — (b/2)) (mgl) b, c, 1
% T(6+1)/2T(c—0b-1/2) 2\ /2)+1, 2

1>> o

N 2y VAT (e/2)T( + (b/2) (e ~ (b/2)
= D) TG 2T O — (0 -1)/2)

For instance, if m = 1,2, Relation (37) is simplified as:

e bl et 1
2\ (b/2)+2, 2c+1

— 1)’

and:

E b+2, ¢c+2, 1 1
2\ (b/2) 43, 20+ 2

_ 272 +1) T((c/2) + DI((6/2) +3)T(c — (b/2))  (b+4)(2c+1)

b(b+1) T((b+1)/2)T(c+2)T(c—(b—1)/2) b(c+1)

Special Case 16. When p = 3,4 = 2 and x = 1, by noting the Whipple formula and Relation (32),
we get:

a+m,1—a+m, 1 (©),,(3—=20),,
3F2< ’ 1) @)1= 1),

nl(c)T(3—c¢)
X (2F((a TO/2T((a—c13)/20((—a10)/2T2—(atc)/2)

m=1) [ g 1—a, 1
- 3b <
¢, 3—c¢

) o

For instance, if m = 1,2, Relation (38) is simplified as:

31_,2<a—i-1,2—a, 1 1)

c+1,4—c
_ s T(c+1I'(4—c) _ c(c—3)
S 20(1—a)T((a+c)/2)T((a—c+3)/2)[((1—a+c)/2)T(2—(a+c)/2) a(a—1)
and:
3F2< ajfz?gi'cl 1)

B T I(c+2)T(5—¢)
2(a—2),T((a+c)/2)T((a—c+3)/2)T((1—a+c)/2)[(2—(a+c)/2)
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~(e+1)(d=c)(cB—c)+a(l—a))
(a—2), '

Special Case 17. When p = 3,4 = 2 and x = 1, by noting the Pfaff-Saalschutz formula and
Relation (32), we get:
1)

_ (C)m(2+b_c_n)m (C_l)(c_l_b+n) (m;l) b/ —n, 1
B b),,(—n),, (c—1-b)(c—1+n) 2\ ¢ 24b—c—n

E b+m, —n+m, 1
372 c+m,24+b—c—n+m

1> ) - @)
For instance, if m = 1,2, Relation (39) is simplified as:

_c(c=2—=b+n) ((c=1)(c—1—b+n)
1>_ nb ((c—l—b)(c—l—i—n)l)'

E b+1, —n+1, 1
312 c+1,34+b—c—n

F b+2, —n+2, 1
372 c+2, 4+b—c—n

)

(c=De(c+1)(c—1—-b+n)(c—2—b+n)(c—3—b+n)
N nn—1)bb+1)(c—1-b)(c—1+n)

(c+1)(c=3—=b+n)(nb+c(c—2—-b+n))
n(n—1)b(b+1) '

Special Case 18. When p = 4,7 = 3 and x = —1, by noting the Whipple formula and Relation (32),
we get:

m+(3/2), b+m, c+m, 1
4F3
m+(1/2), 2—b+m, 2—c+m

1) _ ()" (2-b),2-0),
2m+1 (0),,(¢),,

r2-bmr2-c <ml;1> 3/2, b, ¢, 1
T2—b—c) 3\ 1/2,2-p,2-¢

_ 1> ) - o)
For instance, if m = 1,2, Relation (40) is simplified as:

4F3< 5/2, b+1, c+1, 1 ’-1):1((b_z)(c_z)_F(S_b)m_c)),

3/2,3—b,3—¢ 3bc r2—-v—ec)

and:

e 72 b+2,c42,1 | ) _ (2-b)y2-0)
Y3\ 5/2,4-b,4-¢ ~ 5(b),(c),
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+2

r2-mnr2--c bc+b+c—-2
< r2-b—c) (b—2)(c—2))

Special Case 19. When p = 5,4 = 4 and x = 1, by noting the Dougall formula and Relation (32),
we get:

F m+(3/2), c+m, d+m, e+m, 1
> m+(1/2), 2—c+m, 2—d+m, 2—e+m

1 (2-09,2-d),02-e),
a1l (0)(d)y(e),

F2—ol2-d)TRQ—e)lR—c—d—e) <m1;1> 3/2,¢,d, e 1
TR2—d—e)l(2—c—e)(2—c—d) N 1/2,2-¢,2-4d,2—¢

) o

For instance, if m = 1,2, Relation (41) is simplified as:

5/2, c+1,d+1,e+1,1
5F4 3
cde

3/2,3—-¢,3—d,3—e

1) _2-0R-d)@2-¢)

Fr2—r2-ayr2—e)lr2Q—c—d—e) 1
( T2—d—el2—c—e)l(2—c—d) )

and:

£ 7/2, c+2,d+2,e+2,1
4\ 50 4—c 4—d 4—e

1) = (2—c)y(2—d),(2—e),
5(¢)y(d),(e);

r2—clf2—-dr(2—e)l(2—c—d—e) 3cde 1
( F2—d—e)l2—c—e)l2—c—d) (2-c)2-d)(2—e¢) )

Special Case 20. When p = 7,4 = 6 and x = 1, by noting the Dougall formula and Relation (32),

we get:
m+(3/2), b+m,c+m, d+m, 3—b—c+n+m, m—mn, 1 1)

F
7 6( m+(1/2),2—b+m,2—c+m,2—d+m, b+c+d—n—-14+mn+2+m

_ 1 (Z_b)m(z_C)m(z_d)m(b+c+d_n_1)m(n+2)m
B 2m+1 (b)m(c)m(d)m(S —b— C—‘r?’l)m(—?’l)m

(2)n(2_b_c)n(2_ b_d)n(z_c_d)n
8 ((2_b)n(z_C)n(z_d)n(z_b_c_d)n

_(’"El) 3/2, bc,d, 3—b—c+n, —n, 1
776\ 1/2,2-b,2—¢,2—d, btc+d—n—1n-+2

1>) @)
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For instance, if m = 1,2, Relation (42) is simplified as:

e 5/2b+Letl, d+1,3-b—ctntl1-n 1
776 3/2,3-b,3—¢,3—d, btct+d—nn-+3

)

2-b)2-c)2—-d)(b+c+d—n—-1)(n+2)
3nbcd(3—b—c+n)

1 (z)n(z_b_c)n(z_b_d)n(z_c_d)n
. ( - (2_b)n(z_c)n(z_d)n(z_b_c_d)n) ’

)

(2=0)y(2=¢)y(2—d)y(b+c+d—n—1),(n+2),
5(0)y(c)o(d)2(3—b—c+n)y(—n),

and:

F 7/2, b+2,c+2,d+2, 5—-b—c+n,2—n, 1
776\ 5/2,4—b4—c,4—d brc+d—n+1n+4

(z)n(z —b— C)n(z_ b— d)n(z —C— d)n
x ((Zb)n(2c)n(2d)n(2bcd)n

3bcdn(3—b—c+n)

oA (bterd—n—T)n+2) _1) :

4. Conclusions

In this paper, we applied two identities for generalized hypergeometric series in order to extend
some classical summation theorems of hypergeometric functions such as Gauss, Kummer, Dixon,
Watson, Whipple, Pfaff-Saalschiitz and Dougall formulas and then obtained some new summation
theorems using the second introduced hypergeometric identity.
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